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No. of Questions ; 200
W B WEAT @ 200
Time :2—15 Hours ] [ Fuli Marks : 600
o 2g wel [ qurfy: 600

Note: (i) Attempt as many gquestions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted. question,

FfeeTiR g Bl B B T HACT BN | TG T 3 (i) a1 &
mﬁﬁ?ﬁﬂvwﬁmmfmaﬂﬁﬁvwmm
A

(i) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

I v dsfens TR wE oW @ Age Wik 2 @ Reee wd s )

(#ii) This paper comprises of four Sections : Mental Ability @nd General

Awareness, Chemistry, Physics and Biology (Botany and Zoology). Each
Section contains 50 questions.

T OUR-TE Y gR @ve ¥ - 99e arodr g4 EWe 9, A e,
A e @& A fge (@@wf od wftn fiem) | v@e e o 50 g ¥

SECTION -
WS - |
(MENTAL ABILITY AND GENERAL AWARENESS)
(e AT Y Wjﬁ)

1. Which country is known as "India of Eurape'? F

(1) Spain (2) France (3) Taty (4) Portugal

IR BT AR B TH G GG S A A E P

(1) ¥ @we (@) @) G

(1)
P.T.0.
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Which one is not correctly match 7

(1) Darjeeling-West Bengal (2) Mount Abu - Rajasthan
(3} Kodaikanal-Tamil Nadu (4) Shimla-Uttar Pradesh
A W P e WS T Y

(1) =i —vo §re (2) HRIVE 31 — R

(3) ®rewEart - afeg (4) Rmer - 9wk /Y

In Computer Language, how many bytes are in one megabyte ?

HEYTY 1 AT 3 gF Fage # e wge B € 7

(1) 1,00,000 {(2) 10,008,000 {3} 10,24,000 (4) 1048,576
Which country is known as the Tand of white elephants’ ?

(1) Laos (2) Thailand (3) Kenya {4) Myanmar
5w 3o 1 Aoy 2Rt B g & am Qo o & 7

(1) W (2} w@wicls (3) &1 (4) TR
"Entrance of Asia” is:

(1) Saudhi Arab (2} Taiwan {3) Turkey 4) Japan
T @i U9 ER SEeldl &

(1) T avE (2) g (3) gat (4) o=
Presidential election is controlled by :

(1) Lok Sabha Speaker : (2) Prime Minister

(3) Elechion Commission (4) Minister of Parliamentary Affairs
weufit vg 1 gA el R o @

(1) FTHER FRI 2) WETEEE ERT

(3) Fafeas T BN (4) AT AAA B W G

When joint meeting of Lok Sabha and Rajya Sabha are being held ?

(1) When President calls
(2) When there is opinion difference in Lok Sabha & Rajya Sabha
[3‘] When Parliament Session beging
(4) None of these

(2)
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FEEH T SAEH &) 9 dad &9 B 8 7
(1) wguly @ gemg

(2) S U e # AaiE BN W

{3) TT @ W 6 EM W

(4) T ¥ $Ig T8

By which constitutional Amendment Act Fundamental Duties are incorporated
in constitution ?

(1) 42nd Constitutional Amendment Act, 1976

{2) 43rd Constitutional Amendment Act, 1977

(3} 44th Constitutional Amendment A&, 1978

{4) 45th Constitutiorsl Amendment Act, 1980

fow widurtre woer affrm gw1 e ¥ @ aden @) whefe R @ ?
(1) 4287 WiuiFe dar= oRfm, 1976

(2) 433 WAt wemg= i, 1977

(3) 444 St wves sffean, 1978

(4) 45a7 Fnfrs wewe aftrfroe 1080

Gobar Gas mainly consist of :

(1) Methane (2) Ethelene

(3} Acetelene _ {4) Carbon Monoxide

Mae o § q@E BT E 8

(1) fe (2) A

3) R | (4) Fe= A sifeage

From the following which makes milk sour 7

(1) Protozoa (2) Bacteria {3) Virus 4) Nematod
e id s gy ggr gm & 7 '

(1) e (2) 4 (3) TR @) Pree

(3) P.T.O
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11

12.

13.

14,

15.

16.

To make curd which MICTOOrganism is used ?

{1} Acetobacter (2} Leukonostoc  {3) Bacillus {(4) Lactobacillus
S8 T A Preferiia § 9 R et an sy fvar o 2 7

(1) yReidwey (2) mmiAEm  (3) Ay (4) daeafies
Cause of AIDS is :

(1) Bacteria (2) Fungi (3} Virus (4} Amoeba
GET BT FRY 2 :

(1) sw@fm (2) (3) Ty (4) arfra
Which is the first state in the country to open a Blood Bank for Cattle ?

(1) Goa (2) Kerala

(3) Qdisha (4) Andhra Pradesk

7 3 @13 s vaw & foney Toel & R ars-dT 9t v @) 7

(1) mra (2) @

{3) iz (4) Mg wew

Which country will host next Champions Trophy in 2021 7

(1) Srilanka (2) Australia {3) Bangladesh  {4) India

2021 4 B Ty Afywe gt - 2021 @ ameE Py § e 3w A B 7

(1) e (2) smegfemn (3) FTETEY (4} W

At which of the following place union cabinet of India has approved to
establish a centre of International Rice Research Institute ?

(1) NOIDA (2) Kanpur (3) Varanasi {4) Pantnagar
T @ WO A T Ae d R Wi WwOCasRe g e e (IRR])
P Py B WO T B WIpta & @ P

(1) Q) TR (3) e @) W

Who is the author of the book "Winning lLike Virat : Think and Succeed like
Keohii" ?

(1) Uday Mahurkar (2) Abhirup Bhattacharya

(3) Rajesn Jain . (4} Arvind Adiga

TEE nexfar wmEer five B T wRie Wﬁ%cﬂ F ogEm gty ¥ 7
(1) S0 TR (2) WY st

(3) T SH (4) @rfdm afeom

{4)
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Which among the following SAARC nations did not figure in the "World
Happiness Report 2017 7

(1) Pakistan {2) Bhutan (3) Afghanistan (4) Maldives
e et # e ¥ e Ay ges dude RuE - 2017 WS @7
(1) oTfese (2) = (3) AETAE () F=dig
Which one will replace the question mark (?) ?
fae % gw fme () @ e W @ g ?
(1) 36 (2) 48 (3) 38 (4) 30
Find out value of ? in following ;
= # ? &1 7 @ @ ?
12:30::14:2
(1} 30 (2) 28 (3) 35 (4) 42

Which of the following crop is not utilized for commercial production of edible
oil 2

(1) Wheat  (2) Rice (3) Sunflower  (4) Maize

P & ¥ See aeE R S wme o e @ O e T8 g # °
(1) (2) & () sorged (4) 7w

The difference between cow's milk and buffalo lIIHT.lk is thét ;

(1) Milk of cow is white but buffalo milk in yellesish in colour,

(2) Milk of cow is yellowish bl bullalo milk is white in colou,

(3} Milk of cow is yellowish in eolour bﬁf it contain more fat han ‘“\lfff alo milk

(4) Milk of cow is white in.colour but it contain low amount of fat
milk than buftaj

(5)
PT.0
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23.

24,

TR @ 5y ok 4w @ g A Rt Refig 2

(1) 9 F ¥ @ PR 0o W @ gy P Qe B S ¥

(2) 3 & g faws S E.Tfﬂla’mﬁﬂﬁr?ﬁﬂqﬁfﬁﬁ el & |

(3) M BT gy Ty By BT § aer Ted GHT BT WS HE & g T wnar 2
el

{4) T B G WW ¥ BTG ¥ T I 76 B A R @ gy @ BF R 8

In the foliowing chart given characters follow a certain trend, row wise or
cotumn-wise. Find out the missing character (?) accordingly :

T RE T A W oenga W oW Wi § Y vl # o Rfdad a2 g
VR G ATHR S w9 (7) B R W B ?
bl

f A 5) . H
F i M
{ 7 ] N N R .I|
y=% (2) N 3) O @ P

A girl facing north rotates 100 degree clockwise then 190 degree anticlockwise.
What is new direction of the girl ?

1) North-Faet {2) West

(3) South-West {4) South

& Tod! @ 37 O Y A 3R 21 6 9 9 wd B amw 100 R g &
i 72 udl & wd & s 7w # ol 190 efl wwt 21 o aTsel &1 47

R g ?

(1) see-gd & &R (1) uf¥s & 3
(3} wlRwLgem @t ek (4) wET B AR

Which of the following is most energy-efficient source of light ?

U‘.’ Tube light CESL (3) LED (4) Tllngﬁ’fen Bulb
e ¥ g SRS T HaE Sot-ariaye o & ?

) B0 5o a0 (3) Wodo o () emed 9w

(1) 78 T
g 1O 12in the same way as 39 15 related to
25, uﬁ: a o) % 3 2 i 1
{1} &

(6}
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T HEH 129 S yoR 9 & o 5 59 @ v E
(1) 459 (2) 389 (3) 269 4) 4=

A is B's sister. C is B's mother. D is C's father. E i1s D's mather, Then how is A
related to D 7

(1) Grandfather - (2) Grandmother

(3) Daughter (4) Granddaughter
ABRTECBRNHEIDCwRard E, Dﬁ:fr%‘lsvrwﬁf#ﬁw
D% a1 ¥ 8 ?

(1) war & (2) =t & (3) T E (4) T &

The average of five consecutive odd numbers is 61. What is the difference
between the highest and lowest numbers ?

% 9w e R demsl @ sta 61 2. @ W e 9 wWaw o9 wenst
&1 3R =1 § 7 g ¢

@) 6 @4 3) 16 ) 8
Today is Monday, after 61 days it will be :

(1) Tuesday (2) Monday (3) Sunday (4) Saturday
R o AR ¥ Y 61 R D s eN-w R B 7

(1) #vdar (2) HHaR (3) ¥fare (4) wfaw

Which word will come in the n'uddle if all of following are arranged
alphabetically as in the english dictionary ?

uﬁ#ﬁﬁ#ﬁﬂﬁﬁr%mﬁﬁmﬂaﬂmmﬁaﬂmﬁmﬁmﬁﬁmm
ot B8 e A H A ?
Donkey, Donator, Donjor, Donate, Donative

{1} Donkey (2) Donator (3) Donjcn (4) Donative
What should came next in the following letter sequence ?

fres gt & w9 A ot @@ & 7 ..
AABABCABCDABCDEABCD

(1) A (2) E . @cC (4) B

How many states are there ir India ?

e # fa W 7 :

(1) 29 @) 27 @) 28 (4 95

(7)
PT.O.
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32,

33.

34.

35.

36.

31.

The highest literate state of India is :

(1) Mizoram (2} Goa (3) Tripura (4) Kerala
RS @ welE Bide wog &
(1) fAsim {2y e (3) Bgw (4) T

Industrial Revolution started in England in :

(1) 16thcentury  (2) l8thcentury (3) 17theentury  (4) 19th century
geivs 3 e mifa weey g€ o

(1) 1641 st § 0 (2) 1841 e ¥ (3) 1740 vy ¥ (4) 1941 vl A

NNP is equal to :

(1) GNP + Depreciation ' (2} GNP - Depreciation
(3) GNP + Exports (4) GNP - Exports
N T 9 ReR e

(1) o o7 91+ &/ (2) o o 91 - B
(3) o T @+ PramE (4) 90 w1 @ - Fale
The largest Indian State by area is:

(1} Madhya Pradesh (2) Maharashira
(3} Utiar Pradesh (4) Rajasthan
SHFE & AT WG o F99 g1 0 8 ¢

(1) U 431 (2) 7ERIY

(3) FRWY (4) roreET

World Population Day is observed on :

(1} June 5 (2) Tuly 11 (3} Qctober 4 (4) December 10
fowg wrer faaw A1 W 8

(1) oA 5! 2 FEE s () vEmeH (@) R0 @

Pointing to an old man Sohan said, "His Soris my son's uncle”. How is the old

man related t© Sohan ?

(1) Father
(3) Brother

(2} Crandfather
(4) None of these

(8)
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U ge e @) AR 3 FRG gU WIEA FEel 8, TUE Todl WY wee & "l
21 gw ger wedt digw & by yaw wufda & ?

(1) fen (2) =

(3) 9g ©(4) T QA g o A

If 3rd December, 1990 is Sunday, what day is 3rd January, 1991 ?

(1) Tuesday (2) Wednesday  (3) Thursday (4) Friday
a3 RemR, 1990 WA9R 8, o 3 @aad), 1991 ar-ar faw 2 7

(1) IR (2) TR (3) THAR (4) IEParR

A class starts at 11 00 am and lasts till 2.27 pm. Four periods of equal duration
are held during this intetval. After every period, a rest of 5 minutes is given to
the students. Thus, the exact duration of each period is :

(1) 48 minutes (2) 50 minutes (3) 51 minutes {4} 53 minutes
TS Fe R B 11 : 00 99 | WHY e 2 qwiex 27 e 0% T &) 39 sed

iR A @ AR woe B ¥ ) g% 9 @ gre vl @ 5 fe m R
B o 8 ( g9 veR, WS v @1 | ey

(1) 48 fFe (2) £0fae (3) 51ff=e (4) 53 e

In a class of 60 students, the number of girls is twice that of boys. Kamal, a boy,
ranked seventeenth from the top, If there are 9 girls ahead of Kamal, the
number of boys in rank after him is :

60 BTH & wmen 4, orefral o wem wer Q B HE, oY U deet & Y
W HET WM W 2| 3y A erefdel eme 9 s E 6 ve o d s aE

ASH I Hear §

{1 3 2) 7 (3 12 (4) 13
The Union Budget 2017-18 was presented in Parliament of India by ;
(1) Shri Arun Jaitley " ) S Chidanbara
(3) Shri Manmohan Singh . (4) ShriNarendra Modji
=g guic 2017-18 o &R Ry W § gy gy o ?

(1) 5 &5 el | (2) & Mo Rrwem

(3) i werE : (4) A s =@y

) PT0.
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42.

43.

44,

47,

48.

49.

In India, Shri Ram Nath Kovind has been elected as :
(1) 12th President (2) 13th President (3) 14th President {4} 15th President
weg A, o owe ifew @ g TR

(1) 12@ wgafe (2) 139 wgafe (3) @ ol (4) 1597 iy
From which date Goods and Services Tax (GST) has been implemented in
India ?

(1) 1April, 2017 (2) 1May, 2017  (3) 1June, 217 (4) 1]uly, 2017
are % g I 3 w=g v dareR (Megwodlo) A fawm waw ¢

(1) 1ad® 2017 (2} 193 2017 (3) 190 2017 (4) 19emg, 2017

Find the odd one from the following :

fores | S8 @7 wal @ORE
(1) 16 {2} 80 (3) 64 (4) 36

1f NQXG means LOVE, then ECMG means:
af¥ NQXG & w9 LOVE & @ ECMG 1 & & -

(1) CALF () GOOD (3) CAKE (4) CALM
The planet which is closest to the earth is - |

(1) Mercury (2) Mars {3) Neptune - {4) Venus
93 TE W Jel & WAE oS g, B

(1) = (2) #re (3) g (4) I®
Which of the following is not a language of Computer Programming ?

(1) WINDOWS  (2) PASCAL (3) BASIC (4} COBOL
e & 9 @ evegex wnnfi @ A 7@ e ?

(1) e (2) et (3) NP (4) T

IC chips in Computer are made of :

L{l} l.ead (2) Silicon (3) Chromium (4) Gold

Wﬁwﬁ'maﬂlcm%ﬂ#ﬁsﬁﬁ?
(1) ¥ (2) Fferdr (3) wIFEH (4) @

[f a train of 200 m long running at 60 km/hr then how many seconds will it

take to Cross another train of 300 m long running in opposite direction at a
4 of 90 km/hr? |

E?]E EB 5eC. (2) 14 sec. (3) 9sec. (4) 12 sec.

(10)
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WWG”EGDiﬁGH@?Wﬁﬂﬁﬁofﬁﬁw#m%,ﬁqsﬁr
¥ W 300 #o = ¥ wn fodg ey 4 90 ffe/HR 9 o @ St 8 B
TR AT

(1) 8¥o ' (2) 14 %o (3) 9%0o {4) 1230

Find out the average marks scored by 3 students together, if in an examination
Saumya scored 40% marks, Raju scored 80% marks and Riya scored 624 marks
and the maximum marks are 800 :

3 e grr wrer R TR alvad 3w w1 waey AR Uo ofenm § WiEn A 40% o9
e FR, YT W 80% 3 T T ¥ 624 3w wr Y wen sfadw of 800 ¥
(1) 500 (2) 528 (3) 623 (4) 510

SECTION - 1|
grs -l
(CHEMISTRY)
FErEs famr)

Half-life of a reactions is found to be inversely propertional to the cube of initial
concentration. The order of the reaction is :

U b @ apleny, oRfYE witer @ w9 w1 aeswguildE o S 3
sififar & @ife €
(1) 4 (2) 3 (3) 2 4) 5

1% solution of KCl is dissociated to the extent of 80%. What would be the
osmotic pressure at 27°C (R = 0.0821 L atm K™ mal™; mol. wt, of KCI = 75.4
g/ mole)

KCl &7 1% faags 80% o W 0% verd 2] 27°C R UOeRv 9 &y g6
(R =0.0821 L atm K™* mol™, KCl %7 1o = r54gfmole}?

(1) 82latm  (2) 821atm (3) 5.95atm ™ (4) 59.5 atm
Which of the following is used mdely in the manufacmrmg of lead storage
battery 7 L
(1) antimony (2) lithium (3) arsenic (4} bismuth
mﬁﬁﬁ%ﬂﬁﬁﬂhtﬁﬁﬁﬁ%ﬁﬁﬁﬂmwmﬁmmg?
(1) e @) ARG (3) sty (4) faepr

(11)

P.T.0,
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ad.

35.

a6.

57,

Acetone is mixed with bleaching powder to give :
(1} chloroform
{3) ethanaol

(2) acetaldehyde

{4) phosgene
@R ey @ Wy TEEE B e W e &

(1) F@RH (2) wefrefeeme

(3) =i (4) e

Most reactive towards electrophilic nitration is :

(1) benzoicacid  (2) nitrobenzene (3} loluene {4) benzene
TANBAs Tgee el ok arfSs framde @ 2

() @l a7 (2) “IggEwE (3) &g (4) dal+

Important ore of zinc is :

(1) calamine (2} cryolite (3) cassiterite (4} malachite
(1) daregT (2) s (3) @ETCIES (4) Hempize
Hydrogen gas is not liberated when the following metal is added to dil HCl
a3 HCl & Preifefiag # @ e uig =) e @ segom 49 gae @ a1 8 7
{1) Zn (2) Sn {(3) Ag {4} Mg

The hardness of water is estimated by :

(1) EDTA method

{2) lodometric method

(3) Jodimetric method

(4) Gel Permeation Chromatographic method
il @) BORET H] b [ S e

(1) EDTA & R

() FrRARE B T

(3) e fal

" o G e he & grRI

(12)
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“Which of the strengest acid in the following ?

frtofed & we® vad of e @iFEr & 7
(1) HCIO, (2) H,50, (3} HCIO, (4) H,S0,

Dunston's test is used for the identification of :

(1) glycerol - (2} acetone {3) glycol (4) ethanol
SHEA 1 T e v e B R wEm A &7

(1) Pereda (2) T (3) TEmERA (4) et

Insulin is :

(1) acarbohydrate (2) an amino acid
(3) alipid (4) a protein
o & |

(1) TF afErEse (2) & I QRS
(3) F forfie (4) & wdH

The number of 55 bonds in sulphur trioxide trimer (5,0,) is :

Wow grEsiieaEe 2R (5,0,) ¥ S-S dve @ wen ¥

(1) 3 @) 1 32 " @ o
The process of vulcanization makes rubber :
(1) Soluble in water (2) Hard -
3) Soft {4) Less elastic
o] Widhal X&R @ g E
(3) T 4y ar-elvemr
Which of the following polymers has amide linkages ?
(1) Nylon (2) Teflon (3) Terylene @) Polyy

. e : . ths
Prfofaa # & o agee 7 Ty gara wrr o & FHiEane
{1y e (2) el (3) Sdfem 4 Yoo
Which of the following polymers has ester linkages ?
(1) Nylon (2) Bakelite (@) TetYma (g Ve

(13)

PTo.
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Frfefas % 9 5 agog W Wex ol wrag Wi 8 7

(1) et (2) d&emse (3) 2ferT (4) drdre
66. The monomer of natural rubber is : |
(1) Chioroprene (2) Isoprene
(2} Butadiene (4) Acrylonitrile
TS @Y B A &
(1) FRWE (2) FTEEnE
(3) ®ereEA (@) UPFTEATEETEE
§7. The compound having one isopropyl group is:
(1) 2,2, 3, 3-tetramethylpentane (2} 2, 2-dimethylpentane
(3) 2,2, 3-trimethylpentane (4) 2-methylpentane
TF argEmits W BW o d@ifhe 2
(1) 2,2,3,3-CgifRemgenies (2) 2, 2-TrgiRengaes
(3) 2,2, 3-zsfhemgee (4) 2-fugenies
B8. Optical rotation of a racemic mixture is :
{1} Positive (2) Negative
(3 Zero : (4) Temperature dependent
v WfE Mo @ sifeda I09H 8
(1) WHNTTD (2) TERTHD
(3) T (4) TR R
§9. The IUPAC name of the compound HC=C-CH,CH =CH, is:
a) 1- peﬂfﬁﬂ'4'}“e (2} 1-pentyn-4-ene
3) Allylacetylene (4) 1-pentene-5-yne
HC=C-CH,CH=CH, ®1 TUPAC =14 2 :
(1 1 ﬁ#—i-ﬁﬂg_ri (2) 1-¥eTga-4-34
) ) TR (4) 1-U°E-5-Mge

The most strained cycloalkane is :
70. 4 1 dﬂFmpaﬂE (2} cyclubutane (3) cyclopentane (4) cyclohexane
" ;:..j;;ﬁ"’ {fJ' W (3) TTEEETI (4) EFGEIET
(14)
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71. The correct order of stability of the given radicals is :

(1) tertiary > secondary > primary (2) tertiary > secondary < primary
(3) tertiary < secondary > primary (4) tertiary < secondary < primary
R qers & Wil Wl A 8. -
(1) qiue > wrafie > mafie (2) TP > AnAfE < g
(3) TeTE < ARAfiE > waFe (4) TP < AEafiE < TS
72, Following reaction is known as CH,COCH,—22"28 , C.H, + H,0.
cone HCI
(1} Rosenmund's reaction (2) Clemmensen reduction
(3) Wurtz reaction ' (4) Kolbe's reaction
Preferfae s @ @ T & CH,COCH, — 2758, c.1, + H,0.
cone HCI
(1) e & afafan (2) TR TEYE
(3) 5w s (4) oI I sl

73.  Which of the following statement is false about benzaldehyde ?
(1) It reduces Tollen's reagent
{2) It undergoes Cannizzaro reaction
(3) It undergoes Aldol condensation
(@) Tt forms sodium hiﬁqu}ﬁtE adduct
sofeesEe & Helud #1-w S=fafeg sow s &
(1) w2 <fa=y fiens 5T oAt wvar 2
(2) 7® ST s o 8
(3) T% Ve FuT
(4) 98 WITW FgdePEe (S o &

74. Nitration of nitrobenzene gives ;

(1} 1, 2-dinitrobenzene (2) 1, 3-dinitrobenzene

{3} 1, 4-dinitrobenzene {4) 1,2, 3-trinitrobenzene

Aol 7 TELT Uel 2.

(1) 1,2-SEggEe T (@ LIS

(3) 1, 4-SrEEgIaet 4) 1,2, 3-Frememdastry
(15)
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75. Which of the [ollowing is an example of thermoset polymer ?
(13 Rubber (2) Nylon-66 (3) PVC (4) Bakelite
7 8 @151 vRitie 95e® B T SEeRT € 2
{1} &% (2) HTetH-66 (3) dEr (4) ddwize
76,  Which of the following is a Natural polymer ?
(1} Bakelite (2) Nylon (3} Proteins (4) PVC
Frer & & witew) yo gt agos & 7
(1) dderge (2) =T (3) Wi (4) & &
77. BunaSisa:
{1) Monomer {2) Trimer (3) Co-polymer {(4) Dximer
Buna-$ & % :
(1) Yoo (2) wTE {3) HEdgT® (4) SE
78.  Ethane is produced during the electrolysis of potassium salt of :
(1) Succinic acid (2) Malonic acd
(3} Acetic acid (4} Fumaric acid
W Rere Ol @av B Ry suaes § S fen e & 7
(1) Wit s (2) #eiife s
(3) tfFem oFe (1) FERE I
79. Which of the following compounds exhibits cis-trans isometism ?
(1) 2-Butene (2) 2-Butyne (3) 2-Butanol {4} Butanal
Bt # D $F-E1 AP cis-trans FAGTIA yefifa e & 7
(1) 2927 (2) 22T (3) 2= (4) T
| CH,
|
80. The [UPAC name of the compound H1C~{13—CH=EI—[1 is :
CH,
A Trim Ei‘h‘};‘lpmpane Q) 1,1, l'TrimEth}'lprﬂF-E-EnE
(1) 3.3 gl-ene (4) 2, 2-dimethylbut-3-ene

(3) 3 3--dimet‘hj,ﬁ‘n
(16)
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CH,

H;CE—CH=CHE 1 IUPAC M 2 :
|

CH,
(1) 3,3, 3-FrEFrergemud @) 1,1, 1-gERemgeyin-2-39
(3) 3, 3-sEMeEesE-1-g1 ) 2, 2-sgfRergeee-3-59

The ozonolysis of 2, 3-dimethylpent-2-ene produces :

(1) Two molecules of aldehydes

(2) Two molecules of ketones

(3) One molecule of aldehyde and one molecule of ketone
(4) Neither aldehyde nor ketone

2, 3-TEPemEade-2-57 @1 ey dar §

(1) gfeseme & T o

(2) P B = 3

(3) TfeSEEs T ¢ & AR FTH T um 3

(4) =7 o yRewes &ir 7 & S

Geometrical isornerism is shown by :

{1} Alkanes (2) Alkgngs

(3) Alkynes (4) Aromatic hydrocarbons
(1) =4 BRI (2) T gy

(3) TeHET ENT (4) AT sEgeET EW

The hydration of propyne in the presence of Hﬁﬁ:ﬁ%; produces.
et @1 HgS0,/H,80, # suRafy 4 werdam 3 2 -
(1) CHCHO () CHCH,CHO (3) GIL,COCH, () HeHo
Acetylene is produced by f:&rr}ring out electrolysis of patassium sajf of -
(1) Acetate ‘ _(2,‘.4 Succinate (3) Fumarate (4) Oxalate
@%ﬁﬁmﬁéﬁmﬁw*ﬁqﬁ W'ﬁmﬁ?qrmrmgf
O e Q) v (3) wge Ty —

(17) |
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B85. Which of the following molecules has all the three sp, sp* and sp” carbon
atomns 7
Frstefers 4 & 57 o) 4 il & sp, sp dfi sp? FTEA T £ 2
(1) CH,=CH-CH=CH, (2) CH, CH=CH-CH,
(3) CH;~CH=CH-C=CH (4) CH,CH,CH,CH,
86. The cyclic polymerization of acetylene produces :
(1} Benzene (2) Cyclohexane
(3) Toluene (4) 1,3, 5-trimethylbenzene
vfifedli= @ wfly agadier dm @
(1) i (2) TgFAEERT
(3) eTIgA (4) 1,3, 5-TgHengadsia
87.  Which of the following compounds reacts with ammonical solution of AgNO, ?
(1) 2-Butyne (2) 1-Butyne (3) Ethene (4) Ethane
Prefeafan dhfirel # & s AgNO, #1 spliramm wid @ &= vl e 8 ?
(1) 2-Tgergw (2) 1-sqCTs (3) T (4) v
88. Which of the following pairs give positive Tollen's test ?
(1) glucose, sucrose (2} glucose, fructose
{3) hexanal, acetophenone (4) fructose, sucrose
fr=faRem #§ d-ar  AEE 2o qdmw g 8 ?
(1) W ;{fﬂﬂ'ﬁ (2) Jalﬂ’ii'i, HCd
(3) EeFarTe, TRESTRI (4) WaeH, Wh'Y

89. Benzamide on treatement with POCI, gives :

{1} aniline (2) benzonitrile

(3) chlorobenzene &) benzylamine
Fomarss POCI, & ¥ & 2
) deTEETEE
(1) T o) ez
; ,zar0's reaction is nol given by :
gp. The Camﬂnﬂ scetatiehyde @) acetaldehyde

(1) kime

4} formaldehyde
3) benzaldehyde (4] y

(18)
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AR Al =8 S 8 -

(1) crevide vhreloemss (2) Q‘F%raﬁ‘-@m
(3) dofece=s (4) wrfeETge

[somers which can be interconverted through rotation around a single bond
dare ;

(1) conformers (2} diastreoisomers

(3) enantiomers (4} positional isomers

HEARY Wit qere-aivg @ At AN g O ofiovaRaff 0 ¥ @ med ¥
(1) s o (2) SETEIRETEERR

(3) TR (4) Wi amgwEd

Types of bonds present in CuSQ,. 5H;0 are only :
{1) electrovalent and covalent

(2) electrovalent and coordinate covalent

(3} electrovalent, covalent and coordinate covalent
(4) covalent and coordinate covalent

CuSO,. 5H0 ¥ 978 & JR wuitert ¥ daa -
(1) SoFpie= Ug P :

(2) FEERER Wi aRife s

(3) gelaeiire, FrdR aul BN P
(4) BT W@ FRIRET Frie

Which of the following process is used in extractive metallurgy of Mg ?
(1} Fused salt electrolysis
(2] Self reduction

(3) Aqueous solution electrolysis
{4) Therrnite reduction

Mg 1 awilaed Fearl % P f @ s yarr g 4 0
(1) e aree gog o

(2) & SdgugT |

(3) v e gamiRe

(4) wAige JUET

(19)
P.T.0.
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94.

95.

96.

97.

When I' is oxidized by MnQ)," in alkaline medium, I” converts into :

(1} 10, Lalie (3) 10, (4) 107
T T A F MnQ), g I slfediga e R o [Dage @
(1) 10, ¥ (2) 1, ¥ (3) 10, # {4) 10 ¥

Among the following, the paramagnetic is :
famifaRas 4 o mfes € °
(1) Na,O, (2) Oy (3 N,O 4) KO,

E® (reduction) values of the half cells Mg™ | Mg and Cl,|CI™ are respectively
~2.36 V and 1.36 V. The E° value of the cell Mg | Mg™ | |Cl, | Cis

wg ¥ Mg?|Mg 7@ CL|CI" B E° (57oRdw) ™1 el -2.36 ¥ T 136 ¥ 21
¥ Mg | Mg™ | |Cl, |[CI” &7 E® ¥ & :
(1) 3.72V (2) 1V (3) 0.18V {4) 264V

When CaCO, is heated ai a constant temperature in a closed container, the
pressure due ta CO, produced will ;

(1) Change with the amount of CaCOj taken

(2) Change with the size of the container

(3 Remain constant as Long as temperature is constant

{#) Remain constant even if temperature is changed

v g5 wF ¥ few T W 9@ CaCO, @ ™ R W § CO, 1 B TR
dl=T Gid .

(1) CaCO, 1 ot 7§ 7= ¥ gRad W Fgem |

' (2) uE B IR A aRed ¥ aQer |

(3) ReR ¥ 79 T T ReR B
(4) Re 2T s # &g giafch & |

The values of Vander Waals constant 'a for the gases O,, N,, NH, and CH, are

1.36, 1.39, 417 and 225 L. atm. mole™ respectively. The gas which can most

easily be liquified is :

:ﬁr' b” Ny, NFs e CH, &1 arex @1@ Reri® Ha9: 136, 1.39, 417 iR 225 L,
o g Tad ST @ mﬂﬁ%ﬂﬁﬁ _—

. mole
?;;“S‘: 2 N, (3) NH, (4) CH,
(20)
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The volume strength of 1.5 N hydrogen peroxide solution is :

15N sEgIo* wRailewgs fera & dfeqn Wy 8
(1) 4.8 {2) 84 {3) 3.0 (4) 8.0

No. of electrons in 1.8 ml of water is :
o F 1.8 el § geragEl # de
(1) 6.02x 10% (2) 3.01 = 10* (3) 06023102  (4) 60.22x 107

SECTION ~ lil
Hrg — Il
(PHYSICS)

(ifere formmr)

The earth's radius is 6.37 x 10° m and the carth is 1.5 x 10% km away from the
Sun. The fraction of radiation emitted by Sun as.intercepted by the earth is:

Jeit BT e 6,37 x 10° o 2 ok TH B ww 1.5 x 10° o g W &) Wi W
IR TET @7 ArT gt W owd, §

(1) 451x10°  (2) 1.82x10°  (3) 45x 107" (4) 621x 1072

A 2 u T capacitor is charged (o 20 V and them cormected across a 6 1 H inductor.
The maximum value of current is :

(1) 11.5 Amp (2) 2.0 Amp (3) 123 Amp f4) 95 A

7% 2 p F it o gaRy 20v Emarm&mﬁ?mmm%'aﬁiﬁgﬂ m;apﬁvﬂa
faan T B | ORT B eEe |
(1) U3TER () 207 @) 155 - (4 95 ofiry

A 15 p F capacitor is charged te 60V. The energy stored in the capacitor ig -
T 150 F3 TR @1 60V 00 ot avd 81 9RS ¥ Toim st gy -

(1) 0.027] (2) 0.035] (3) 0.0547 @ 0025

The S.L unit of inductance ﬁme"‘%;?gcitance b

(1) Second’ (2) Volt "'(3) Ohm 5

Rae x g @ HUES &ﬁ’l’\’fﬁa stﬁﬁz; 3

@ pen
(21y B
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105, A carrounds a curve of radius 40 m at 48 km/hr. The centripetal acceleration is :

106.

107.

108.

109.

410. Foras

U3 TR 40 9 e & aidle vy w48 fdlo 5o 31 TR & gl &1 swE

(1) 444 m/sec2  (2) 13.22m/sec® (3) 1687 m/sec? (4) 2.43 m/sec?

A man whose WE'ight on earth is 500 N, is lifted to a height of two earth’s radii
above the surface of earth. His weight will now be .

oF amedl Rraer v yell W 500 N & SE@ SErew gl B e 9 yedl #
BT 3 QA SO O W W 8 | ST W SR 8
(1) 500N i2) 166.6N (3) 556N (4) 50N

1f two adjacent walls and the ceiling of a rectangular room are mirror surfaced,

the number of images of himself as observed by an observer will be :

IR AR FER A D o g8 da R wd B e W T a R
W & | dere g am Rt 3 /e ) e

(1) 3 (2) 5 (3) 7 (4) 9

Two masses of 1 gm and 4 gm are moving with equal kinelic energies. The ratio
of magnitudes of their linear momenta is : o
1 4T AR 4 WM A QY T TR Hel A afy a) W E | S Hae wam
& of¥wro T SR BN

(1) 4:1 I3 B3y 1:d 4) 1:16

An organ pipe open at both ends has a fundamental frequ?nc? 400 Hz. If ane
end of the pipe 15 NOW closed, the fundamental frequency will become :

(1) 400 Hz {2) 200 Hz (3) 546 Hz (4) 600 Hz
ﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁ ot & T B 400 SO A gRT ¥ N
qummﬁmﬁmm‘ﬁhﬁm@%ﬁr: |

(1) 400 gﬂ:‘ﬁ {2) 200 %?G’F (3) 546 BCH (4) 600 gel

atellite in a circular orbit following cenditions holds :
(1) Kinetic eneIgy 15 greater than potential energy
l . nergy is less than potential energy

(@) Kinet o
of kinetic and potential energies 15 positive
-n:jk

of kineticand potential energies IS negative
(22)
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U gAER @i # gEd are 9uuE & fod Prefefe wd of e @
(1) 717 ot Rerfer solf 3 aférs ol &

(2) afes ot Rerfors &l @ & Bt &

(3) 7w & Refr oot @1 @ s B &

(4) TR @ Rafder wwt & o o g &

The time T required for a planet to complete one revolution about the sun in an
orbit with semi-major axis @ and semi-minor axis b satisfies the following
relation ;

2 2 2 ' 2

(1) — = const. {2) T_q = const. (3) T—:, = const. (4} Tﬂ = consk.
a b a b

U UE B G B 0o gaeR o oA A T @ e 8, e wE B A ¥ S
FOR T g T SNIER 94 b PR v @) g e 8 -

2 2 2 2
(1) Is—=ﬁemﬁ' 2 %zﬁﬂﬁfﬁ (3) T—E:ﬁuw (4} :—=ﬁm~?T$
a ' a

In an inelastic collision of two objects the following is not conserved :

(1) Momentum (2} Total energy

(3) Kinetic energy (4) Potential energy

< TR &) ST Ty ¥ Prfaiim @ wrem g8t e

(1) w3 (2) Ho T

(3) nfos et (4) fyfere ot

1 mile/hour speed is equal to :

(1) 4.46 m/sec o (2) 0.447 m/sec

(3) 1.612m/sec (4) 3.213 m/sec

1 et /wier @t iy avmar &

(1} 4.46 %o /%o (2) 0.447 %o /o

(3) 1.612 %o /d0 (4} 3.213 e /90

The dimension of torque issame as that of «

(1) Impulse {2) Momentum  (3) Power ) En ergy
(23)
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115.

116.

117.

W’EF"' ‘ﬁ fam a’ﬁ ? 3l
(1) §Ie @ & (2) W o B (3) vfem & 2 (4) &l @1 8

Two cells of emf's approximately 5V and 10V are to be accurately compared
using a potentiometer of length 4C00cm.

(1) The battery that runs the potentiometer should have voltage of BV,

(2) The battery of potentiometer can have a voltage of 15V and R adjusted so
that the potential drop across the wire slightly exceeds 10V.

(3) The first portion of 50 cm of wire itself should have a potential drop of 10V.

(47 Polentiometer is usually used for comparing resistances and not voltages.

SV aur 10V TRee B g0 50 @ 21 Fe) B qE IRGE By A 400 o T

% Aveard gra A T &)

(1) Baand) § gwi B arh ded o Ao 8V BFl TRy

(2) fved ) deedl 15V 8 wed! ® w0 R W T YR TEEIRTG o T 8
F TR @ AR ox Rwear 10V & drgl e el

(3) wmi 9 A TEA 50 ¥ Wi W Rvmui 10V EE1 TR |

(4) T @ SErT s wfeRy @ qe & frg R i & Rl & T R

Fur light diverging [roma point source .
(1) The wavefront is spherical
(2) The intensity increases in proportion to the distance squared
3) The wavefront is parabolic
{4) The intensity at the wavefront does not depend on the distance

v fAmg o W amafia 8 uern @ fag
(1) T el B

(2) e g B @i B eI A wed
(3) TOTE Gt ORiEE) 2

(4) T g7 o g ) PRk e weeh

If the time period of a simple pendulum is T its kinetic energy is also periodic
with a time period :
RO Aed @ gl Fme T & IUd v we 8 sredl €RT wen

I &Tﬂ'iﬁ el BT

T T
B i,
1y 27 2 T (3) > (4) :

(24)
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118.  When a horse pulls a cart, the latter moves because of :

118.

120.

(1) The frictional force due to the road acting on the cart

(2) The frictional force due to the road acting on the horse

(3) The pull of the horse on the cart being greater than the force of reaction on
the cart

(4} The pull of the horse being greater than the force of reaction on the horse
oTe HeT M $1 digar &, 6w frm e & i B &

(1) TSH & o999 90 & TS W fFw s @

(2) 5% @ 99 9% & uIE u¥ fBvar wey

(3) 12 BRI Wi W 96 M) W v a@ TR a9 § afts 29 @ e
(4) 913 FR7 Wiem B 77 O W A e 9T 99 @ oo &9 & e

In a Young's double slit experiment, the source is white light. One of the holes
s covered by a red filter and another by a blue filter. In this case |

(1) there shall be alternate interference patterns of red and blue.

(2) there shall be an interference pattern for red distinct from that for blue.

(3) there shall be no interference fringes.

(4) there shall be an interference pattern for red mixing with one for blue,

1 3 fGfRt wivt & Wi wiq very 1 8| o e o ore Pheee @ 9o fm
& AR g @ fe feex Q| 59 aigeen ¥

(1) @t e el I 3 Teroy afagr gt 2

(2) e o A T @ YAP-Gep U arfiaeer des By

(3) =% A =frEwor Brewr «d¥ &)

(4) o 37 9w uw wafewver Yo gw A v ted § Bt 2

Hole is -
(1) ananti-particle of electron.
(2) avacancy created when an electron leaves a covalent bond.
(3) absence of iree electrons.
(4) an artificially created particle,
2 oW €
(1) geagiT &1 ufvamr 2
(2) TEEUl 3y # Tw *ﬁ?;ﬁifﬁmmﬁﬁm%
(3) BT goiaRl @ Rt
() P w5 % o e sl

(25 )
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121.

122.

123.

An electron is moving with an initia! velocity v=1,i and is in a magnetic field
B= B;:.} . Then it's de Broglie wavelength.

(1) Remains constant

{2) Increases with time

{3) Decreases with time

(4) Increases and decreases periodically

FW goqet e ORYE A p=v, & R gEel 8y B=B,j % vime ¥
9 Sl B A-grel a9 39

(1) &&= I8

(2) T8 & T @ §

{3) A9g ® H o @

(4) #ad w9 & Fedr &k vedr §

The displacement of a particle is given by x=(I - 2)" where x is in metres and ¢
in seconds, The distance covered by the particle in first 4 seconds is

(1) 4m (2) Bm (3) 12m (4) l6m

RS v ) BRI 1= (t-2)° Frofeg R w8, o x AR ¥ aeT i wes 4
Mgl e R TEel 4 Qe A FU g ag A i W E

(1) 4m (2) 8m’ (@) 12m (4) 16m

Change in temperature of the medium changes |
(1) Frequency of sound waves

{2) Amplitude of sound waves

(3) Wavelength of sound waves

(4) Loudness of sound waves

ez & @ IREdE |

(1) = it 1 e aRaffa 8 = 8l

(2) wafy T o AT S Tl 8

‘) U g cri R

mﬁﬁmﬁﬁzﬂmﬁﬂmﬁﬁt

(26)
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In a permanent magnet at room temperature :’

- (1) Magnetic moment of each molecule is zero

(2) The indivudual molecules have non-zero magnetic moment which are all
perfectly aligned
(3) Domains are partially aligned

(4) Domains are perfectly aligned

R T Oy R v g

(1) W% 379] &7 gty ol I B 2

(2) B ST AR § IR IO g an § o ok R w1 §)
(3) SP sfvr W 2§

(4) S g Wi B ¥

An inductor of reactance 102 and a resistor of 20) are connected in series to the
terminals of a 6V (rms) a.¢. source. The power dissipated in the circuit is ;

1 Q ufedy & 160 R@ oo 20 URRM B Frit U W 6 V (xms) & SOOI
TR B ¥ Afew ¥ ey o ¥ oRay § w9 it @ e 2

(1) 8W 2y 12W (3) 14aW- (4) 18W
The moderatot in a nuclear reactor functions in the following way :
(1y Absorbs neutrons (2) Absorbs thermal energy
{3) Slows down neutrons (4) Accelerates neutrons
ﬁﬁ?&?wﬁﬂ'ﬁwﬁﬁmﬁmﬁmﬁg_

(1) <gEMAS S amEemu (2) T HAT Y S

(3) M B T AIWE (d) T A o) 7 o #

The impurity atoms with which pure Germanium should be doped to make a
N-type Germarium: - .

(1} Sodium (2) Boron (3) AftMONY  (4) Aluminium
Y& WeHHEd (Ge) @ o 4.3 b9 amer e § W e fy gg
N-IFR & sgares ¥ gae o ¢

(1) e (2) dNT (3) T @) Teyffms

If the RMS value of the AC voiltage across the secondary of the tray; .
half wave rectifier is 9 volf. Th¢ masimum DC voltag sformer in 5
. :

any filter is about: A f_cmss the load without
(1) 10V (2) 4V (3) 8V

(27)
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129.

130.

131.

132

fait st feewrd # grawrde 1 Bdue 4 1Re gaEd o) & o e 1
(IReTHeTHo] fT @1 |19 9 aree 2| aifR W R (@owiie) fop &1 79 @
T AT WE ol (veew) Ty W W §

(1) W09 (2) 4 dree (3) 8dree {4) 6dree

The moment of inertia of a body about a given axis is 1.2 kg/m?®. To produce a
rotational kinetic energy of 1500 joules starking from rest an angular

acceleration ¢ = 25 rad/sec® must be applied on this body about that axis for a
period of »

(1} 2 sec (2y 10 sec (3) 5sec (4) 4sec

frelt five w1 oree arawt ) o1 & TRa: 1.2 fFwo /AMe® & | g 1500 T o
TR T T @e @ e @iy @R o = 25 WA/t T ag i | SR
a1 & ufte: fopqs v a@ ST e Y

(1) 2¥o | (2} 10 Jo (3) 5¥0 {4) 43¢

The dimensional formula of universal gravitational constant G is :

Ay ST (2) M'LT (3) MI?T? (4) M7LPT

Ar electric iron (press) marked 2 kW and 250 Volt. The resistance of the heating
clement of the press is:

(1) 62.5 chm (2) 125 ohm (3) 31.25 ohm (4) 5x 107 ohm
1o figy o (M) W 2 kW @ 250 dree 3T 2| T FEw o) B AR
gl

(1) 62.3 alA (2) 125 &4 (3) 31.25 ik (4) 5x 10° M

Which one of the following particles will describe the circle of smallest radius
when these are pmjecttd with the same velocity perpendicular to the magnetic
field ?

(1} Li" won | (2} He" ion (3) Proton {4) Electron
Pmﬁfﬁaﬁ?ﬁ“ﬁﬁﬁﬂﬂmwwaﬁﬂnﬂwzﬁﬁmmgfa?—mm
E;_a.a%-_;rrﬂﬂﬁ Fram % Iy wHE a7 @ wafa fE o 2 2

et 2 : & | goae
oy Lt T (2) He'wmm  (3) WEH (@) s

(28)
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By mistake a volbmeter is connected in series and an ammeter is connected in
parallel with a resistance in an electrical circuit. What will happen to these
measuring instruments ?

(1) None of them will be damaged (2) Both will be damaged
{3) Only voltmeter will be damaged  (4) Only ammeter will be damaged

Tort A fal e oRuw # v vt & Sofeew F areeiier wen aWERRR B9
gRAT w7 R W &1 5 SueRel w99 weg e ?

(1) =7 Ul 5 9 18 wOs TE e (2) S SuENy @ed @ el
(3) Pad dioeder TR B (4) Had uRETR wea g
Two point charges Q and —~2Q are placed at some distance apart. [f the electric

{:M at the location of G is £ then the electric field at the location of - 20 will

ARGIMIQ TN QP PR W QI WT R g 44 £ 2 @

2QT WM Uy fHee &7 B
() 2E @ -L /2 3 -F @) [

The knee-voltage (cut in voltage), a PN junction diode s :
(1) 0.2 volt for Si and 0.6 volt for Ge diode
(2) 0.6 volt for both Si and Ge diodes

(3) 0.2 volt for both Ge and Si diodes

(4) 0.6 volt for 5i and 0.2 volt for Ge diode
fe PN-wfy s1ais # #.f3u7 (Fe 57 fivwa) @1 = 2 &

(1) ReRrerT ST & Ry 02 A 1 SRR srls @ R 0.6 B
(2) feferam vd A gs < ST @ R 0.6 A=

(3) s vd fafemr 2 s o R 0.2 9

(4) ol sms B forg 0.6 ¥ SR S & Ry 0.2 gtge

(29)
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136.

137.

138,

139.

Which of the {ollowing statement about spectral line series of hydregen atom is
correct ? :

(1) Lyman series is in infrared region

(2) Paschen series i3 in visible region

(3) Balmer series is partly in visible region and partly in ultraviolet region

(4) Balmer series is in infrared region

Eregio T @ oimw dda Aand @ wefte PeafefEa § 9w e wE
B

(1) oEwe it sravery &5 ¥ Bl 8

(2) a2 gea &5 F Bl B

(3) TR S ofiffie guy A T HMEE NI & F P ¥

(4) FvR &9 Srover &5 8 B 2

A concave mirror has a radius of curvature of 3 em. The distance at which an
object must be placed in order to give a virtual image magnified by 5 times, 15 :
(1} 1.8 cm (2} 2.5cm (3) 1.2cm (4) 3.2cm

U agEe TS @ T e 3w R e @1 g @ T g W v A &

FTerE e @ e 5 A wET R Y
(1) L8348 . (2) 25¥% (3) 1.2 9 (4) 3239

The half life time for a radioactive substance is 5 hours. How much quantity of
the substance will decay in 20 hours ?

(el Yool wibe wars @ sigemy 5Ee &1 20 6¢ ¥ & gY TRl @ Hi=T g 7
(1) 93.75% {2) 6.25% (3) 75% (4} 25%

The common base cutrent gain o of a transistor is (.95 The transistor is

onnected i CE configuration. What would be the change in collector current
L

when the bas¢ current changes by 2 mA ?

- .Wtﬁwﬁmmﬁmﬁﬁmﬂﬂmﬁuﬁmmﬁﬁﬁn ey
i iﬁﬁgmmﬁﬁﬂ_g@évvﬁ:‘%wmuﬁzmqﬁa#{ﬁhh
BT o aRadd @ ?

(2} 38 mA {3) 19mA (4) 24 mA
(30)

o & i
(1) 1.9mA
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140. The magnetic flux linked with a circuit of resistance 100Q changes by 500
Webers in 10 seconds. The amount of induced charge (in coulombs) that flows
in this circuit during this time is :

ot 1000 SR B R ¥ e g TR 10 % 500 da¥ ¥ wRaffe &
W # W g ey #§ 3o e § wafed O e WRa o @ A wEne
B

(1) 05 @5 (3) 50 (4) 0.0

141, Five resistances are connected as shown in figure below. The effective
resistance between the points A and B is :

EﬁﬁMﬁﬁﬁﬁﬁ‘iﬂﬂﬁmW?lﬁﬁﬂﬁAﬂﬂ B® ¥ gl sifes &

1) 60 @) 150 B g @ 2g
3 3
142, The electric potential at 2 point inside a unifottfily charged spherical shell of
radius R : :
(1} is constant (2) varies.asr
{3) varies asiz. _ (4) varies as .

r : r
where r is the distance of the point {rom the cesize.of the shell.
Rﬁﬁﬁ%wﬂﬂ.ﬁq%mﬁmWWW&‘?W%R@WWW'.

(1) fruars # (2) r W uRaffx By 2
{3)%%%%% [4}%%?%‘?%3%‘@?
G‘ﬁr‘ﬁ?ﬁu?ﬂ’lﬂé‘ﬁﬁﬁﬁﬁ{ffﬁl

143. The Brewster's-angle for a glass slate {1 = 1.5} immersed in watey (= 1333
T (p=1.333) 7 & e (k= 15) 9 ofer & o gmen 2.
(1) 56.31° 2 a3.69° (3} 206° 4) 48.4-
(31)

is:

BID
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144,

145.

146.

147.

In Young's double slil interference experiment the wavelength of light used is

6U00A. [f the path difference between the waves reaching at a point P’ on the
screen is 1.3 microns then at point P

(1) second bright band occurs (2) second dark band occurs

{3) third bright band occurs (4} third dark band occurs

#1 & R e s § 6000A FeTiet w7y s B mn ¥ R o
¢ P g ov afms aiel ael & wel B L5 Wigst & a1 g PR

(1) e di enfied fEd © (2) et ardia enfat R 4
(3 g S el R € (4) g srdre kel e €

The plane faces of two identical plane convex lenses each having focal lengths
of 40} cma are placed against each other ‘o form a usual convex lens. The
distance from this lens at which an object must be placed to obtain a real
inverted image of the same size (magnification unity) :

{1) 80cm (2) 40 cm (3) 20em (4) e0cm

40 T T g A ) e e o ordl 9 WaTe e 89 HoR ¥l &
fr & vo gua o o #1 3% o W fRD s ®1 o g 7 W i 3
Seel Wi, orafde 77 9E STER (TR ) @1

(1} RO FH (2} 40 < (3) 2090 (4) 60 T
Different colours are exhibited by white light reflected from thin film of
kerasenc oil floating on surface of water because of :

(1) diffraction 12} dispersion (3} interference  (4) polarization
Fodm o T O B EEE O AR gaell et gr WEfdd whe T | -
fr=r <ol & frard uH B FRUE

(1) oRewu 2) R @ e (@) g

Two simple harmonic motions in mutually perpendicular directions are super

'1:npgsed_ If both of these mations have the same amplitude phase and
frequency. The resultant motion will be :

(1) A straight line inclined at 45° to both directions
(2) A straightline inclined at —45° to both directions

(3) A crde
{4) An ellipse
(32)
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B IO A Teol IR RE UF-get W aemfy @ Wi ) o B @
WA Tl U9 smgfeidl T & at gwedt afRumdy ofy @t

(1) =1 el | 45° ur a0 wee YT

(2) =T R F —45° 9% T W Wiy

(3) & T

4@ @ g

A small solid sphere when dropped in a viscous liquid finally moves with a
uniform (constant} velocity, which is known as :

(1) Escape velocity (2} Critical velocity

(3) Terminal velocity {4) Reynold velocity

& B B MAF 74 T W Ta § Oy we & a9 s 78 & W (fer)
TR W A @ & sw R ) o ¥

(1) Temg= (2) wifm &

(3) B (4) ¥fee am

A person moves 30 m towards North then 20 m Bast and then 3042 m South-
West. The displacement of the person from the starting point shall be «

(1) 20 m South-West (2) 15 m East

(3) 30 m North-East (4) 10m West

U% 2 30 ® SR B= 20 & 9f aliv Aiw 3042 B sRonulen g 2 b
vy & g9 Beemg g

(1) 20 el @) 15%gd

(3) 30 # Sre-yd (4) 10 gfes

Two balls are dropped vertically downwards from rest from the same point

after an interval of 1 sec, If seesleration due to gravity is 10 m/ sec?, then what
will be their separation after 4 sec from the release of the first balt 7 :

(1) 30m (2 Bm (3) 25m (4) 40m
ﬁﬁﬁaﬂwﬁﬁqﬁlﬁﬂa}mﬁﬁ?ﬂﬁw#%ﬁﬂmw?;aﬁ
ﬂ“ﬁaaﬁﬂEHE{m_%ﬁﬁz@ﬁﬁ“ﬁﬁ?*ﬁmﬁ%4#¢wmﬁﬂﬁﬁ
Rt 4t Bt 7 | |
(1) 304 2) 353 @ B8 @ ge

(33)
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SECTION - iV
g - iV
BIOLOGY (Botany and Zoology)
Sa-fagme @Aty ga witn fEm)
151. Match List-1 with List-1l and choose the correct answer from the code given
below .
List-1 {Discoverer} List-I1 (Discovery}
A Gener i Blood Group
B. Watson i Penicillin
(& Landsteiner iii Vaccinization
D. Fleming iv Double helix
Code :
A B C D

(y i i i v

(2} iii v i i

(3) i iv i

(4) it i v i

A1 T AL & v e Ay o A Ry g @ |l eI g
-1 (@) -1 ()

A, WA i wRe T
B. GIEwT I YR
C. IR i SR
D. ot v IFEAEE]

(1) iii 1 i
(2} iil w1
@i L7
@ i W

(34)
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After birth in humans in which tissue there is no cell division ?

(1) Skeleton = (2) Nerve (3) Connective (4) Genital
b 9% E @ 5 wuw § w18 S o 78 e & 7

(1) HFre. (2) w3 (3) = (4) W
Biopsy is related with :

(1) Post mortem done to know the cause of death

(2) Examining in unconscicus state

(3) Separating tissues from the body for examination
(4) Treating hydmlrphubia

W) (Biopsy) weifra

(1) 79 &1 &R 97 3 fog w9 RNeded oo

(2) <R = Refr ¥ gl vy

(3) e & g Sowl B R § o I @

(4) TEPHIRTT FT IUAR T W

‘Which one of the following is ot an absorbent organ in humans ?

{1) Nictating membrane (2) Ear Shell muscles

(3) Flat front teeth (incisors) (4) Vermiforms appendix
f=t 4 & wlaar 7 ¥ aedd s g R ? |
(1) FreefeT aaf (2) ®u FEURm

(3) WP o wwe S (4) oo ifew

Which of the following is scientific namessf Phetetima posthuma 7

(1) Leech (2} Neris .'(3} Barthworm (4 Tapeworm

Gfemr dieg (Pheretima postiuma) frey & % Rrear dnfies am 2 2

(1) ot @R (3) wgen &) Sy
S {8

PTOQ.
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156. Animportant feature of human evolution is :

(1) Increase in heart size (2) Increase in limb size

(3) Increase in brain size (4) Loss of tail

A fame @ wEcagel fagea &

(1) B=0 W s # gha (2) fora @ are A ¢

(3) witerss @ amae A dfg (4) o @ gafd
157. Bile salts are madein:

(1) Pancreas {2) Liver (3) Ducdenum  (4) Stomach

g FAN T €

(1) =Ry 4 (2) TP # (3) et (4) e
158. In human, autoexcilable action potential is generated firstin :

(1) AVN (2) SAN

(3) Bundle of HIS (4) Purkinje fibres

a3 e Preree Be amed uee 9o g
(1) AVNH (2) SAN ¥
(3) HISS 95 # (4) YRfF wETd A

159. Which of the following favours the dissociation of oxygen from the
oxyhemoglobin at the tissue level ?

(1) High pCO, (2) Low pO,
(3) High H"' concentration (4) All of the above

Wﬁ{ﬂﬁﬁﬂf@ﬁmﬁﬂﬂaﬁmﬂﬁtﬁwmwﬂﬁﬁrﬁ?ﬁﬂﬁﬁﬁ#
FHEA ST B 7

(1) ¥ pCO, (2) = pO,

(36)
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Binding of oxygen to hemaglobin is known as :

(1) Oxidation {2) Reduction

(3) Oxygenation (4) Oxido-reduction

iR @ foy aiferfioT & oo 7 s o 2

(1) iteeiteor : (2) sr=aH

(3) offediafar (4) FreirR-Rems

Inspiratory reserve volume of normal human lungs is :

AT B S 6T geaeved Rl diew

(1) 500 ml (2) 2500-3000ml  (3) 1000-1100ml (4} 3000-3500 mi
Cardiac output is increased by :

(1) Sympathetic neurons of ANS

(2) Parasympathelic neurons of SAN
(3) Cortisol

(4) PON

®1160F areeye ggar 2 -

(1) ANS@ Ritefem =ity g

(2) SAN @ Rt =Ri=r g
(3) >t w1

(4) PON BT

Tricuspid valve guards the blood flow between :
(1) Rt Afria and Rt. Ventricle

(2) Lt Atria and Lt. Ventricle

(3) Rt Ventricle to pulmonary.aztery

(4) Lt Ventricle to aorta -

SIS AT TR WA P IE T B

(1) aife=ht snfewr od arfesh A & g

(2) <t onfya vd ardl ARwa @ Gy

(3) afth MMoar A el TRl P gy =
(4) T dfyed @ il @ §o

(37)
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164. Deoxygenated blood is carried from human heart to lung through :

(1) Pulmonary vein (2) Pulmonary artery
(3) Venacava (4) Acrta
ST X vo g g9 © Bwel ¥ o W 9l 8

(1} TeHr< ¥R gm0 (2) UGS EHAT G197
3y F P F (4) vefret gRr

165. Stroke volume of normai human heart is ;
T, TS g3d & YEd & A 8
(1) 70ml (2) 140 ml (3} 500 ml (4) 2500 ml

166. Inactive pancreatic trypsin is activated by :

(1) HCI (2) Na*and K~
{3) Enterckinase (4) Lipase
Pftrg Yfrafes feftaw wrg g &
(1} HCIEw (2) Na“our K© &N
(3] TCAHIEIE BT (4) ABUT BN
167, Ureais secreted into the medullary interstitium from :
(1) Dascending loop of Henle (2) Ascending loop of Henle
(3) PCT (4) Collecting duct
qRar Agerd Fexifdent ¥ wifda @ &
(1) 2= & IR e 4 (2) B0 @ RIS TU W
(3) PCT ¥ (4) wofdET ST &
168. Ultra-filtration of blood takes place in:
(1) PCTof renal tubules {2) DCT of renal tubules
(3) Bowman's capsule {4) Loop of Henle
o T 3"@-%@ afed m 2
. 3 PCT# 2) e TyeE % DCT
u}ﬂﬂﬁff!\q‘ﬂ § SRR
) a B ) &

{38)
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Catecholantines are generally secreted from :

{1) Zona reticularis (2) Zona fasciculata
{3) Zona glomerulosa (4} Adrenal medulla
DEPIAHIT WA T By ¥ |

(1) W YWrpela & (2) i dRfgeer o
(3) ST e o (4) e g B

Most abundant white blood cells in human blood is :

(1) Basophils (2} Eosinophils (3) Neutrophils (4} Monocytes
A9 IRR A W/ WG Yo wE i v S

(1) swfben @ wIRFFe  (3) e - @) devegew

Antibodies are produced by :

(1) B lymphocytes (2) Macrophages
(3} Tlymphocytes (4) Erythrocytes
TErS) wenfem B §
(1) BfRrwmgew grr (2) ¥ g
(3) Tferprages grer (4) TR g
Nerve net system is found in ;
(1) Planarians. (2) Insects (3} Hydra (4} Earthworms
T4 e Ryew wrar wmr 2
O =R@A @ Med (3) g () Fgan 3
Starfish belongs to phylum :
(1) Porifera (2) Coelenterata
(3) Protozoa - {4) Echinodermata
weribe e wigem @ afefe ama 2
(1) wréreRy (2) Ryarever
(3) A (4) Tprgede
(39)
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174

. Androstenedione is produced in :

(1) Granulosa cells

(3% Sertoli cells
TERNEEE SR B 8
(1) F5eT PR

(3) TREE Bt |

(2) Leydig cells
(4) Sperms

(2) =T T 4
(4) wHHd

175, Maltose is
{1) Monosaccharide (2} Disaccharide
(3) Polysaccharide (4) Oligosaccharide
(1) meRETEe (2) SEADIZS
(3) UGS (4) ifemEETEs
176. Heterospory and ligulate leaves are feature of : _
(1) Ferns (2) Lycopodium (3) Marsilea (4) Selaginella
fys oo ©d fepee oRwlt e €
(1) &= @ 0) wsAERTEE () WREETD (@) dafrrm §
177. Perisperm in seeds develops from:
{1} Funicle (2) Nucellus
{(3) Hilum {4) Ovary wall
St # Ry O (Perisperm) T 8 ¢
(1) TR j (2) sy |
478. Ramsar convention is related to conservation of :

17

: . ; 1:
(1) Tiger (2) Birds (3) Wetlands (4) Elephan
AR EEEA froe W B HaEd 27
(1) 4T AREIEE (3) s (4) =il
R, Q. of fatty subsiances is generally : -

9 n (2} Une

e
(1) Less than ot o o

. n O
(3) More tha (40)
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TH qwr & ARo wge (R.Q.) WrIe g

(1) U&F & 7 (2) &

(3) vF q s (4) &9

Coconut milk is used in : _ _

(1) Dairy industries (2) Cosmetic production
(3) Fermentation (4) Tissue culture

TS 1 9% (@revre o) wqoa g & -

(1) g Sy & (2) wr<d wmm wees
(3) fervere # (4) Fus da |
Pneumatophores are found in ;

(1) Mangroves (2} Cactus (3) Lichens (4) Bryophytes
HSIE O W

(1) A==y o (2) ey it (3) wmEd=y # (4) mvEew ¥

Polyembryony is found in :

(1) Citrus {2) Litchi (3) Coconut (4) Tomato
SEYCITT TR IR E
(1) g @ dNd (3) Wi ¥ (4) TR #
Double stranded R. N, A, is present in :
(1) Reo virus (2} Mitochondria
(3) Bacleria (4) Chloroplast
fgeré aRe W0 Yo Ty T
(1) & aerw # (@) wrgemifgar ¥
(3) awy ¥ (4) FERIRE ¥
Link between Glycolysis and Kreb's cycleis :
(1) Citric acid [2) Succinic acid
(3) Acetyl Co-A {4) Fumaric acta
g T wwl O D M B P 2 -
(1) fafe ot T W s
(3} hafem ®1-g (4) 7R orm
—{41)

F.TO.
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185.

188,

187.

188.

189.

180.

Prirnary precursor of L AL A.is:

(1) Tryptophan  (2) Tyrosine (3} Leucine (4) Methionine
LA, A& orRIfE aEemd 8 :

(1) feerds (2) R (3) =g (4) AR
During meiosis, crossing over takes place at:

{1) Leptotene stage {2) Zygotene stage

(3) Pachytene stage (4) Diplotene stage

T T B s SN TR B E

(1) orerd amwer & (2) SIS saver #

(3) UTEE s (4) R v |

Pollination in cycas Lakes place through : 1

(1) Ant (2) Water (3) Bat (4) Air
TG § W BT 8

(1) difeqt gmr (2) 9 BT (3) TGS ERT (4) & EW
Lycopedinm 15 cOMIMONly known as: .

(1) Horse tail (2} Club moss (3) Quill wort (4) Stone wort
oHg e TS TTAIRITT Sl W &

(1) & <o (2) derd @ (3) R a2 4) = a2
In ferng, the xylem is -

(1) Exarch (2) Mesarch (3) E_ndarch (4) Polyarch
wl # &7 g B ’

(1) TR (2) Pnd (3) e ©(4) dfehem®

Amino acids are _ N

(1) Negarivel}‘ charged (2) Positively charged
(3) Zwilter ions. () Cations

il o B B

(1) T aRRE i} gATHS Imafie
(3) wded AT e

(42)
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191, Sunhemp is obtained from :

(1} Crotolaria juncea (2) Cannabis sativa

(3) Musa textilis ' {4) Cocos nucifera

Y W B O & :

(1) wieRar w=far & (2) #7fdw wemar &

(3) Fwor averforg R (4) PlrEw v
192. Opium is obtained from:

(1) dried leaves (2} roots _

(3) latex from unripe fruits (4) latex from ripe fruits

I T AT A ot & -

(1) e i 9 (2) Wt 4

(3) 1 v waf 3 v @ . (4) 9% Bal @ R D
193. The major source of methane in India is :

{1} Rice Fields (2) Wheat Fields

(3) Sugarcane (4) Fruit Orchards

T H AR T e e

(1) o= & @ : (2) W= =

(3) T (4) wal & i
194. InIndia, tropical rain forests are found in -

(1) Darjeeling (2) Andaman

(3) Rajasthan (4) Jammo and Kashmir

o o SETHERTEN a1 T oy ¥

(1) =ifeny O () aomart ¥

(3) oreer (4) & 0 e
195. 'Molecular Scissors’ used in genetic engi neering is :

(1) D.N. A. Polymerase: -~ (2) D.N. A Liggge

{3) Restriction endonuclease (4) Helicase

(4)

PYO.
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196.

197.

198.

199,

200.

S S § gy A @ o S (e dve) ¥ -

(1) Fo o Yo WelHId (2) €lo GHe To A

(3) Gfzaa g-fFua (4) Reliae

The hormone present in the liquid endesperm of coconut is :

(1) Ethvlene (2} Gibberellin (3) Auxin (4) Cytokinin
AR @ TS YO A o W are g

(1) Famsae WRELIEIE! (3) afffeRe (4) wETTETER

The first CO. acceptor in Cs plants is:

Cy TN CUQWWW B

(1) PER (2} RuBP (3) P.G. A, (4) O.A.A.
Photorespiration takes place in:

{1) Mitochondria (2) Glyoxysomes

(3} Peroxisomes (4) Golgi bodies

qeTyl edi THeH B € 7

0 Sl (2) TegeiateI

(3} TRATFIERT (@) men e

Bicarpellary gynoecium and oblique ovary occurs in :

(1) Mustard (2) Brinjal (3} Wheat (4} Onion
Ramed ST vd RS sveTTy wa W 8 ¢

(1) Tt H (2y F1 ¥ (3) 9 A (4) @ §
Ficus 15 an example of which kind of inflorescence ?

(1) Spike (2) Raceme

{3) Cyathium (4) Hypanthodium

g e SR B TIEA @ el 8 ?

(1) ELH (2) Ry

(44)
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